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B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Third Semester 

Commerce 

BUSINESS STATISTICS 

(CBCS – 2014 onwards) 

Time: 3 Hours Maximum: 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by Secondary Data? 

 Cμshõ® {ø» uPÁÀ Gß£uß ö£õ¸Ò ¯õx? 

2. What is Tabulation? 

  AmhÁøn¨£kzuÀ GßÓõÀ GßÚ? 

3. Define Geometric Mean. 

 ö£¸US \μõ\› Áøμ¯Ö. 

4. Find the value of range and its coefficient for the 
following data.  

 80,100,50,90,120,110 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x Ãa]ß ©v¨ø£²® ©ØÖ® 
Ãa_UöPÊÂøÚ²® PnUQkP.  

 80,100,50,90,120,110. 

5. What do you mean by Partial Correlation? 

 £Sv JmkÓÄ Gß£uß ö£õ¸Ò ¯õx? 
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6. What do you understand by Regression? 

 Ehß öuõhº¦ £ØÔ }Âº AÔÁx ¯õx? 

7. Define an Index Number. 

 SÔ±möhs Áøμ¯Ö. 

8. State the formula of Fisher Ideal Index Number. 

 ¤é›ß ^ºø© SÔ±möhsoß `zvμzøu TÖP. 

9. What are the components of Time Series? 

 Põ» öuõhº Á›ø\°ß TÖPÒ ¯õøÁ? 

10. What do you mean by Irregular Variation? 

 JÊ[PØÓ ©õÖ£õk Gß£uß ö£õ¸Ò ¯õx? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mention the advantages of Statistics. 

  ¦ÒÎ°¯¼ß |ßø©PøÍ SÔ¨¤kP. 

Or 

 (b) What are the main objectives of Classification? 

  ÁøP¨£kzu¼ß •UQ¯ SÔU÷PõÒPÒ ¯õøÁ? 

12. (a) Find the Geometric Mean from the following data. 

x : 20 30 50 80 100

f : 8 12 20 14 6 

  ¤ßÁ¸® uPÁÀPÐUS ö£¸US \μõ\›°øÚ 
PnUQkP. 

x : 20 30 50 80 100

f : 8 12 20 14 6 

Or 
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 (b) Calculate the Mean Deviation about Median for the 
following data. 

x : 6 12 18 24 30

f : 3 12 18 12 3 

  Cøh {ø»°¼¸¢x Â»UP® ö£ØÓ \μõ\› 

Â»UPzvøÚ PnUQkP. 

x : 6 12 18 24 30

f : 3 12 18 12 3 

13. (a) Calculate the Rank Correlation Coefficient from the 
following data. 

Ranks in Accountancy :  5 4 2 3 1

Ranks in Commerce : 1 2 3 4 5

  ¤ßÁ¸® ÂÁμ[PÐUS uμ JmkÓÄ öPÊÂøÚ 

PnUQkP. 

PnUS £vÂ°¯¼À÷μ[U :  5 4 2 3 1

ÁoPÂ¯¼À ö£ØÓ ÷μ[U : 1 2 3 4 5

Or 

 (b) You are given the following data.  

 X Y 

Arithmetic mean  36 85

Standard deviation  11 8 

Correlation coefficient between X and Y 0.66 

Find  the regression equation of X on Y   
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  RÌPsh ÂÁμ[PÎ¼¸¢x, Y «uõÚ X  ß Ehß 
öuõhº¦ \©ß£õmiøÚ Psk¤i 

 X Y 

Tmk \μ\õ› 36 85

vmh Â»UP® 11 8 

X ©ØÖ® Y JmkÓÄ öPÊ 0.66 

14. (a)  

Commodity Price in 2018 Price in 2019

A 900 950 

B 400 600 

C 900 1100 

D 300 350 

  Construct an index number for 2019 taking 2018 as 
base.  

   

ö£õ¸ÒPÒ 2018–ß Âø» 2019–ß Âø»

A 900 950 

B 400 600 

C 900 1100 

D 300 350 

   2018 ® BsiøÚ Ai¨£øh¯õP öPõsk 2019 
UPõÚ SÔ±möhsøn {º©õÛUP. 

Or 

 (b) State the advantages of an Index Numbers.  

  SÔ±möhsoß |ßø©PøÍ SÔ¨¤kP. 
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15. (a) Explain the importance of Time Series Analysis in 
Business Forecasting.  

  ÁoP •ßPo¨¤ØS Põ» öuõhº Á›ø\ 

£S¨£õ´Âß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) From the following data calculate three yearly 
moving averages.  

Year : 2010 2011 2012 2013 2014

No. of units : 300 360 340 4600 460 

Year : 2015 2016 2017 2018 2019

No. of units : 500 580 660 720 800 

  ¤ßÁ¸® uPÁÀPÐUS 3 Á¸h |P¸® \μõ\›ø¯ 

PnUQkP. 

Á¸h®: 2010 2011 2012 2013 2014

A»SPÎß GsoUøP : 300 360 340 4600 460 

Á¸h®: 2015 2016 2017 2018 2019

A»SPÎß GsoUøP : 500 580 660 720 800 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the various functions of statistics. 

 ¦ÒÎ°¯¼ß £À÷ÁÖ £oPøÍ  ÂÁ›UP. 

17. Calculate arithmetic mean for the following : 

Marks : 10-20 20-30 30-40 40-50 50-60 60-70

No. of students : 5 10 15 16 12 2 
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 ¤ßÁ¸ÁÚÁØÔØS Tmk \μõ\›°øÚ PnUQkP. 

©v¨ö£s: 10-20 20-30 30-40

©õnÁºPÎß GsoUøP : 5 10 15 

©v¨ö£s: 40-50 50-60 60-70

©õnÁºPÎß GsoUøP : 16 12 2 

18. Find Karl Pearson's coefficient of correlation from the 
following data: 

X : 57 59 62 63 64 65 55 58 57 

Y : 113 117 126 126 130 129 111 116 112

 ¤ßÁ¸ÁÚÁØÔØS PõºÀ ¤¯º\Ûß JmkÓÄ öPÊÂøÚ 
PnUQkP. 

X : 57 59 62 63 64 65 55 58 57 

Y : 113 117 126 126 130 129 111 116 112

19. Analyse the problems in the construction of an Index 
numbers. 

 SÔ±möhsøn {º©õo¨£vÀ EÒÍ ¤μa]°øÚPøÍ 
B´Ä ö\´P. 

20. Calculate trend value from the following data using the 
method of least square. 

Year: 2013 2014 2015 2016
Sales (Rs. in Lakhs): 20 23 22 25 
Year : 2017 2018 2019  
Sales (Rs. in Lakhs): 26 29 30  

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÷£õUS  ©v¨¤øÚ SøÓ¢u 
ÁºUP •øÓ°øÚ £¯ß£kzv PnUQkP. 

Á¸h®: 2013 2014 2015 2016

ÂØ£øÚ ( ¹.»m\zvÀ): 20 23 22 25 

Á¸h®: 2017 2018 2019  

ÂØ£øÚ ( ¹.»m\zvÀ): 26 29 30  

—————— 
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